Long Division
(without remainder)

Name

Score

DS:III:25

1) 82Y790,856 2) 25)32175
—_ Q —_
R = R =

3) 37) 72,705 4 63) 56,700
—_ Q —_
R = R =

>)  54) 45,684 6)  19) 68,951
—_ Q —_—
R = R =

) 74) 86,432 8)  46) 16,284
—_ Q —_
R = R =
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Long Division
(without remainder)

Name

Score

Answer key DS:III:25
1) 82Y790,856 2) 25)32175
Q= 1,108 Q= 1,287
R= 0 R= o0
3) 37) 72,705 4 63) 56,700
Q= 1,965 Q= _ 900
R= 0 R= o0
>)  54) 45,684 6)  19) 68,951
= 846 Q= 3,629
R= 0 R= 0
) 74) 86,432 8)  46) 16,284
Q= 1,168 Q= 354
R= 0 R= 0
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